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(a) =0.22
@ ERFERHK

(@ hxw = 0.10 x0.64=0.06 n’

TH&Y 36m’/B
(0.06x 15m .~ 36 =

@ ERMBZMEAK
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T&H&Y 0.021 (A/m)
15m x 0.021 =

@ BRAH - BDERBEHK () + BMERAHKb)
0. 165 0.37
(a) FhEHE= (0.64x0.37-0.165 X 7/4- 0.06
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(1/36) =
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0.14
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@ EARHI 0.2 B 028
@ Hut 0.1 8 0.1 H
@ BEfmK 0.3 H 0.3 H
0.1 H 0.2 H
@ 2R 0.2 8 0.2 8
® 3lik 0.0 B 0.0 A
KEBH 0.5 B 0.5 H
LB 0.5 H 0.5 H
I UR—ILiET B
i =E EATEK
123 vk—IL (H=3. 0L F) 0.25 8 x 2.0 = 0.5 B
" (H=3.0~4. 0LLTF) 0.26 @ x = 0.0 B
08 - AT vk—IL (H=2. 0L F) 0208 x = 0.0 B
" (H=2.0~3. 0LLTF) 0218 x = 0.0 B
HETUR—IL (H=0. 0~3. 5LLF) 009 B x = 0.0 B
LV Uk—)L (H=1.0LLF) 010 @ x = 0.0 B
" (H=1.0~1.5LLF) 0.12 8 x = 0.0 B
" (H=1.5~2. 0LLTF) 0148 x = 0.0 B
" (H=2. 0~2. 5L1F) 0.16 B x = 0.0 B
" (H=2.5~3. 0LLF) 0.18 @ x = 0.0 B
" (H=3.0~3.5LLTF) 0.20 A x = 0.0 B
" (H=3.5~4. 0LLF) 0228 x = 0.0 B
WBIA% F 0.5 B
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0.6 B
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0.3 B
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0.2 8

1R/82 (16m) HY TFEXR

' H EAzE
@ BAHEHI 0.6 B 0.6
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" (H=1.5~2.0LLF) 0148 x = 0.0 B
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T Ny Y RDEBERASY Y EERRE = 6.5 hr/8
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" (H=1.0~1.5LLF) 0.12 8 x = 0.0 B
" (H=1.5~2. 0LLTF) 0148 x = 0.0 B
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008 . 0.1\
@ #BR 0.2 B 0.2 B
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